N = 0l & AF & F Al A

A F0IMET] R
M 2O ZMELEY, NASES MESHIXA
©e: HASEoSHINA(Y2ESI2ELEEHSIH) (S ASA>)
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
0124 2k X 2 0t 695,024 670,282 24,742
=2 154,061
[ 49,515
z 491,448
RV ZMEEH, HASS MBFI 658,570 637,346 21,224
= 133,698
< 33,424
= 491,448
MHASZZHIXR(ABBSI2XHELSH) 658,570 637,346 21,224
= 133,698
< 33,424
z 491,448
oEesII=2xA 658,570 637,346 21,224
= 133,698
< 33,424
= 491,448
307 QI2t0| ™ 167,122 150,000 17,122
= 133,698
[ 33,424
01 d2YLR2H| 167,122 150,000 17,122
0 320 (FH 2P, QAH| S) 167,122
= 133,698
< 33,424
308 XXISHSOIA 451,948 483,846 A31,898
05 XXISHZEES 451,948 483,846 A31,898
0 22320 X2 451,948
802 BrEt3|E 39,500 3,500 36,000
01 2NEX3LHE3 500 500 0
02220 olXsY 500
02 Al-ZHEX3E3 39,000 0 39,000
0 2EH0IS2 242 2¢ 39,000
HNYP2HAHI(FUMET D) 36,454 32,936 3,518
= 20,363
[ 16,091




SN FOMET R
HH: SN ARG (FUMENRD)
S ClERIH| (A 2ESII2X2484EY35H) S|
SN (B) - MBEAY - B2 Aol e 2
ClAERAY| (S ESIISEILHELESIH) 25,454 21,936 3,518
= 20,363
= 5,091

ol 2 A 25,454 21,936 3,518
= 20,363
o= 5,091

101 Q14| 25,454 21,936 3,518
=2 20,363
= 5,001

09 RIAHAZ=ZXES 25,454 21,936 3,518
0 =202 AF 21 AH| 25,454
= 20,363
& 5,091

E2AHH (S ESII2ZLHEHSH) 11,000 11,000 0
& 11,000

JIE23H| 11,000 11,000 0
o= 11,000

201 LErEAH| 5,000 5,000 0
= 5,000

01 ArR2t2|bl 5,000 5,000 0
0 YstagH| 3,880
o= 3,880
0 294 1,120
= 1,120

202 O4Hl 6,000 6,000 0
& 6,000

01 =2WAbI 6,000 6,000 0

I

20,000& * 29 = 150 6,000
< 6,000




